
Język angielski 3

Uzupełnij zdania prawidłowymi wyrażeniami

Poziom trudności: Łastwy

1. What does he look like? He’s quite tall and he’s got short, dark... .

A - glasses

B - hair

C - eyes

2. It’s nice ... you again.

A - sees

B - seeing

C - to see

3. My father is ... engineer.

A - a

B - an

C - good

4. I ... in Copenhagen.

A - live

B - living

C - lives

5. He ... in London.

A - live

B - living

C - lives

6. ... you speak Spanish?

A - Does

B - Do

C - Are
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7. .. it rain often in Poland?

A - Does

B - Is

C - Do

8. Oliver and Guliver go home ... train.

A - at

B - by

C - on

9. He ... born in 1963 in Spain.

A - is

B - were

C - was

10. Where ... you plan to travel?

A - does

B - are

C - do
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Język angielski 3

Uzupełnij zdania prawidłowymi wyrażeniami

Poziom trudności: Łastwy

Karta odpowiedzi

1. B

2. C

3. B

4. A

5. C

6. B

7. A

8. B

9. C

10. C
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